CHAPTER 3

The Simplex Method and Sensitivity Analysis
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Set 3.4b

(b)

Phase I (continued): R2 leaves, x1 enters (also
x3, s2, and sl are candidates for the entering
variable).

x3 s2 Sol
-2 -1 0
1 0 2
-2 -1 0
0 0
15 -2/5 2
2/5 1/5 0
Drop R2-column.
Phase II:
x1 x2 x3 s2 s1 Sol.
| 2| 2 2 4 0 0 0
x2 0 1 -2/5 -3/5 2
x1 1 0 1/5 4/5 0
z 0 0 -2/5 2/5 4
x2 0 1 -2/5 -3/5 2
X1 1 0 1/5 4/5 0
z 7 0 1 6 4
x2 -1/2 1 0 -1/2 -1 2
x3 5/2 0 1 1/2 2 0

Optimum solution:

x1=0,%=2,x3=0,z=4

]

Phase I:
X1 x2 x3 R1 R2 R3 | Sol
r| -10 0
x2 2 1
R2| 5 0
R3| -5 0
r 0 0
x2 0 1
x1 1 0
R3 0 0

x1 x2 x3 R3 | Sol
r{ 0 0 1 0 0
x2| 0O 1 1/5 0 2
x1 1 0 2/5 0 0
R3| 0O 0 0 1 0

The R3-row is R3 = 0, which is redundant .
Hence the R3-row and R3-column can be
dropped from the tableau with no

consequences.
Phase II:

x1 X2 x3 Sol
z -3 -2 -3 0
x2 0 1 1/5 2
X1 1 0 2/5 0

z 0 0 -7/5 4
x2 0 1 1/5 2
x1 1 0 2/5 0
z 7/2 0 0 4
x2 -1/2 1 0 2
x1 512 0 1 0

Optimum solution:

x1=0,x=2,x3=0,z=4
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Set 3.5a
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Set3.5d
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Set 3.6b
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Set 3.6¢
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Set3.6¢c
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(a)

Magimize Z= ISX + 19X,

S.F.
EX + 4 Xy 5 = 432
Sx,+ %X, +S. = 42.8
I+ EXy +Sp = 4224

’X"le s; Sé)-%?a

e Fre ofatrons wm minudes -
Selotiin: Z=129.28 wnmde,

/267

j{ T D 4 Dy 2Dy 42592 2
L ET 72D, 3D w40.32 20
Statron  Dual Puce  MUsavse
2/ 1.7 28/.6,%69.03
P o S8€.88, o0
2 2585, €52
lz tleerease in mainfenance fme is efww valtrl=
% D = D, =Dz =48 minwlio. This
% gurinbnf % mwy )
Stlion Daly oty
/ ‘ 436.3
z 417 6
3 427-2
\VE, M@Zé:ee coithor Zho
| alloeatite -7
5fa:f(‘vr\ Increase . in_aliized. ”";”L/ Aoy
/ 48X T = 516 vnnlly
2 48 x¢ =o
3 X2 = S 76

ma?'cu‘fr‘m-—w' Ao W«Mﬂﬂg’ﬁ S,+S, 7+

@M/S,‘?L;z*-)} = /267‘2—15')‘,—' /qu_

Z nsproaralss o Aobed used e an

©@ .D, = +9(coo-4p0) = /08 rrun
D.= -Fe(600~-480) = /03.2
Dy~ 8% (Goo—<Po) = 105-§
Faomdh orotlions an b
X, = 3xlof~-2x105.6 +4C /2 = S6 ¥
Sy = = 7x108 4+ 103.2~-2X [0S 64287 324
Xpn =2x/l08 +3xloS 6+ %032 = So-¥
Sobrlan 2 femakle. Hence ol grites
Nerrgun. bl ared Ho 7 hom
s mcreaned é} 1 7X108 +0x103-2 +1-2x105 ¢
= 3/0.32 muinls, Secanar obhir 2
oo ge/uaawf/:/u‘u-, ;gwag nead
PP bn anioncasid. 7 aesocalid cof-
s /s 1§ (600 —489+ O +1-5 (600~
| 4¢¢) = ¥360. '
The PAIPOSG./( can kw 6.?,
o Hat Stafkon 2 time

X, = 9512 unwhs, X, = 40.32 unidy WWM

continued...

Wagaﬁm = gﬂfgxlav;‘ 97.95 %
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Set 3.6¢

X = A/ér. Pm/dﬂy ) ' ‘o (d) Swp;yﬂm = 4L frwzr M Wﬁ/oid&;

/
X2 = Mbr. aygy /. o EHs Aappe. Thuss , K comntrd ophimuan baauc
X3 = Nbr. backpncks fileny | tn 46 onfandl . 75 oltuen Th mens
‘ Mﬂﬁ'é’ﬁée Z 24K 422, + 45X Wm,%d’«&co‘&/ﬂnélmw or
St ’ ¢ 3 tean He agmm o chapdi 4.

;x,'ﬁxz +‘3X3 < 42 © il 74-07?%: /s, N%.Jdﬁ% culhile,
X’+X2-+2X35'40 ’ i Jﬁeﬂfﬂaﬁu,ﬁ/m Aeaglont o
X, + 5K, +)‘3 =45 m ’

X:.X,_, X3 =20 ' £) S¢ A ﬂwwr—'fa,&f&bfd*%""‘:di‘
Sebetip z:#?gz,x,;o)xz;.z){?zgé ﬁﬂ&/mge,_ D, = So-45 = S. Stk
S;»Se,S3 be 2b ablocka Negrairy o Lecaunas M/ﬂ/u«u
Cordfranta L 2, and J, a/eawf .A;:gm,ma»:d‘@gl/lee -rwf?'ey»;mw,,-ona‘ﬂ
Z+.?axl +S, +R1S,+053 = 82 Coprrecs u"y{n ){3 s '
Concliling® (3‘)9§W»€/wb. = $o?//}e\r/ bf&‘ﬁfm
X, =2+D-D0 2o iyt htn . coof o) am deblirad
X, = 26-2D,+3D, w-méb.f—a{mm/%/w)ﬁ 4 ALCamartrliof .
Sy :,zg‘_..gDz-;..D.g 20 X = Mbyr. model | aerdls ) "
Kesource Duokpuie  RHs Ramgeo j;’ Wor. modid 2 winils
&@@664 7 RS Jammvg,e,za SX, + 4X2,
s ozt (28, 42) -f 2%, + 3X, = /200
E«;Mrd o (20, o0) 2%+ X = /ooe
. “4X < 8oo
(D) Bradslbl batben = 45 F5% falls o o X X o
- - . P
t?//SA.aayz. Solotin mfaal& Sa-% z= $1750 ‘
D = 45— 92 = 3. MewsSlthen's X, = 480, X, = [loo
X,=o0 (@) S =0 =3 Resrsfors Scarce
X, =236-2x3= 30 .5:,:0 => Copaciters Scarce
X3 =243 =5 $ | S3="%00 = C—Ay.:: abandant
- [xD = 882 +1x3 =’ 885
Z= 882+1xL, (5 z +55 +45, =750

(B Avasddt, beatblen = 91 £+ fills ondl
gis Awnge and P Kby tyom Alrmaiio

feautle! D= 41 - g2 =y Resishors #7-2S Jaseiator
- wpoa tors # .25/ capacitor
;rzg 3€~(zx~l)‘= 32 g}:m ¢ 0, chip
s =2 =y (©) Concdibro:
Za. 882+Hx-p) =88 = dond ) .3
(c)S%ﬂm=33/»%maﬁeﬁx = 450~z D *ZD 20
D, = 3§-40 = - 2. Dvallprie= 2] Sy = 400 -2D +2'D, 4D, 20
. *2 ‘

XL: 36-}‘3)(—2: 30

X3 = 2 "!"(‘z) = </ D
50— 25D, 29

Z = 882+(1%-2)= 38 Yy  400-20, 24

continued....

}_—_-.} —~200¢ L 5200

. >
oo +-SD; % continued... |
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Set'3.6(2 |

450 +. 75D, 20
490 +2 D, 2o

g-,—_—-> -200< D, %200
160 ~ 5D, 20 ’

400+ Dg 20 =5 . 400 < Dy<=o
(4 D, = /300 ~ 1200 = 10y 4 e
W ~2or =D < 20p.
 AZ s fooxt2e= Fr2s
X = 4SO-25X 100 Y25
Xy = /02 4.5 X/go /Sto
New Z = /750 + 0z <% 75
(e) DS a2 350~ o0 = -45'0 ’ VA
' autpu'o(bM ~<00 £ Dy

—
=
-

- & » 40 4
N, =2 = R, = TY = __0‘

' T T0 Pt gg 0 " ~2o
’71‘:345‘, =841+ =149 >

/gmu) r %74 Cﬂmc% 4 Wé
m.&,ﬁé He meey HS

(43{ S0, 4/0) /,».,L lem [ca)

Moo ; ALand VR—&\_&, ofo

D/W(e Blthon .

(8 2=30, D,=-20,D;=-%0..
Becavne 2 ave D gaéér«i%%“

Mo 1007
Q,.,&,Zﬂ‘m«o’f‘ /a&dmdﬁ.cm

Jprodd f—u

wé’% W/ﬂ/nb/m«ml-é—&

AL,
(}3) —200 €D, =200 ,Mf""t

7hon
..:200)( R g

- So
¢/700

AR

€ AZ< Crox.-S
< = S0
=< < /8500
480+ K 200
< /oo —«——(42@)

450~ TSRS
/00 ~L(20v) 2

D) @ﬁ{)} me{w RW

Aeendtrs = sgox Yo = ¥Qoo

=

aAZ
z

X,

Xo

D = 500 rgecatrrr
.me;a«u #[2_3 < vaddl 4m
~20w s D <200. 777“""(7!”‘0‘—&

) QOUW‘“‘W /J,Dec.
col) et am acldtonad avirempas &3

oo xtes = ¥250, WC’K‘M
Hap, Ho cook agLaH 500 e, Accept.

@ From TORA, 35

X ‘2_,,317*—-/-.17 =0
Z
Xz—-Q"ED +§~.Dz_e°

F&J‘/'é:f/v'i/
-3<D <6
-3=D =6
(A)D D,=0 >o0. Thuns
)('=2+A/3>0} ,,_MA>°
Xp =2+ 5/3 20
/aa?ma"’\o<—éii

N=ry = A<% =<l ek

s 5@44.,6.,4,%,761- o< D<3

5 o=r=2 = i"""'ﬂ”?

'

From Exarmgple 3.6-2, pe La< Iz
For e 70YCO wrpvtel
| -200=D, =/0
—2o0=< D =< oo
—20 = D3 <o
(40D, =8, D, =40, Dy=-10
A1 Dy s 2,23 fall coitbn dCn

AM O"M./{B'locl 3<b b, s¢.

O/gh,{;.gé}:%-%

continued...
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Set 3.6d

o3 cplevindcly comhons
e TOYCO il T 4
X 4'-;%0/;4:-3—'0{3 —v/,_ Zo0

Xy : /4-—2142 Zo |

e a2 -_é.dz ""i/’ _0/3 Zo

(1) Z= 2% 7, +4x3

X, 4-:‘/,(-1) +2-D~(-1)=3.75 >0
x‘r,: / -+-é-’-(—l)= .5 >0
Xg:,?_—-;ll—(—/.)-f-; (-1) = 1.75 Do

Nt g @W+E () -()=-2<0
Concluaim : . cl&fy%

(1) Z2 28X, 435, #9143

4 1+4 ¢ =15 >0
Xs: 2 -.‘.{!. (1) +4&(q4) =375 20
Grelindions : Jelulion «» Mnch

Fram JZO/’PW 3.6-3/ N&W Ha l

0/, =2-3 =,—',, d&;-/—Z:-I) 0/3: 4-5=-]

Concluwaion: SoeluFon %mwaf

4: 3-3.:0) > :G-—?—:Q) c(,,: /-S":*d/ ’0*‘d%f%w%=4xlax8 = 220

dcé’-jzs) o/3=3—2=/, d3=7‘r=9
X0 4L D+ 2(4)-(s)=4T57°

(O z-9366.647
X\=/6€.67,x,= 23333, Xz=o0

(b)/aﬂt%cm’cp?fc%ﬂx = 10 Cerds, /?uu

FM/A@:AM Tablian s rtoucad Cw//.r
X /oﬂ’e-g’, 2/0-5-(-5)= /0 >o

S, 2 73.33 4 67dz +-33
=73.33+4.67(-5)+-33(-5)=68-33 >0
Sz /. 67—./70/&,&./7@; = 16T~ 7(~5) +-17(-S)
S - =/e7 >0
Conclnesmn : Jl“%ﬂ‘/‘m “n MOKW

@ Bvalall cw»fbw@vﬂew‘m'a 3——

Xo= Nor. chavia assmblid a (odye
Ko = Mbr. Lables adsemded o 10 Ao

Maimize Z = SOX, 4 /35 X,
DY o
S Xx +2x, =320
X -4X; Zo
< X < i !
7 X, c= X~ 6Xy SO

%15 Xy 20

Sclutien : z = $278%90,%,=384, ¥, =64/

X, = Nbr. carne @ A/ 2 (6) Optimumbhllean. : :
xfffbr.cm.g/lz X, X 5, O Ssg  Scluhon
xsgﬂanMw-?BK zZ o ¢ 87 o 65 27540 -
. X, 0 | 2 0 - 64
Maximize Z = 805,470, + 60Xz x | o H+z o .4 334
SF x[ ‘I"XL"I'X} < Sov ¢S} Sz (7] 0 '4 i "8 122
X . =100 <~ O/ah‘ma&'g tonidihra
4X, -2x,-2X3 €0 &Sy S,: §7+l2d 42y S0
X, > X, 5 Xz 20 | 53 6.5 44d, ~lch Zo
TdﬁA O'P'/"'m""""" ¢ — e o /3
e | X Xo X3 5 \S?a 53 I”MW o 0(' "o o/z , (- 13'5 ‘..»7?3>o
2z lo  © 7o 7333 o 167 |3666ebT| S, EF+12(=S)+2 S8 ) = 8T
v o I T TT7 O =7 | 33333 | S3: £5+-4(-S)-1 (13¥) = s .85 >0
: . o o 23 0 17 | 16667 | Seludan Atrrabrs IR SRara. o
é" % 6 33 1 .7 | 667 | (@ A= 2§ -S0 = - 25, dy= /20-/35 ="
= o S 87+ 1.2 (~28)+ 20-18) = s&S§>o
Al
Syi &S +H(w) sl-1S) = 22 <0
continued. .. Setpdon’ G&yw
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'Set 3.6d

(@)

Ma

St

X = = Amt. % /amma«e.[m (%)

X 22 Ant-d} con. Lown ¢

ximize z = - 14 Cx, "OBX,) 4412 (X~ <a2x)

+)

- 03)(/—.‘0_2‘\,2

= -/058)(' + '0776)(3

» XI"X 200’400
X252 o 2~ X, s°
EA

X, , Xy Ze

Jolukas z - %20 067
X, =¥ ¢¢4e7, X, =%/33233

4

/%,&03% 20 067

Zw,d

O,ar’zhmfm fableaw :

4 (@%‘r’n\a&? ConsbAiona (from TORA):

Xyt 7S+ 1.Sdz~dy =0

S :€625+.25d3 2o

.s‘a L /0~ 2d3 4d, 20
5'75—/-25‘0{3-{-6/3 =0

Fan-n ,J?.s’+a{>o——>...¥7$'<a§_<aa

TAus, Rmcedy %z netorr cam G
W&d@{uf onoat R8.75 wnfhowt
Wamw o
© g =1, o, =~ Jo,ds=-625dyx-T.S

-$dmmummm4 el Bt e aur i
Xy: 7.5 +1-S (~6°28) - (-7s) = S625 Do

xloo‘loo.?/ S, ¢~ 25 4+ z.s‘(-—(“zs') = 4.687% Do

S2: 10 -2 (=G 28)+(~1$) = 78 Do

X, X s, 5, Siloden | 53¢ 8.7 - 1.25(~4.28) 4 (-0 = €525 P
Z o o .03 0027  Zooé6.67 |(d) (ectncrd coot# Xy = 7S, 4
X, ° 6667 -.3233 133333.33
2 7@“& % & rnofor o Far
x 1 9 3333 .23z €6666.67 %753 07 A}
S): 1003 +.2334, +-m7d Zo @) ;(,- Caste s/ clas | 6
Syi 0027 #3333, —+3332 4> Z 0 el Cadse QM/A
News X, djechive confficiont = 14010 ¥)=-0% s = ?fwfvﬁi/aug_
v g = .0 AXmize Z = X,
ewt X - abyective confficionp =./zzﬁ‘.ag)--a3 S.p 2%+ 9%+12x5
=.08¢ UR2ZDK, (20 X +(E x29)Xy € 69, 000
d,= -099¢- . 10SE = ~.0)l % X, 22000, X,< S 000, X; € Govo
dz=' FE4~. 0976 = —~0//2 K.,x,_,x?.g_-b
St 1003 +.3333(~0N4) 4 6647(~w0II2) Sobusron ! Z = $5/000
=.08%07 > o . » 2000,/\'; :.-./400; XB’ =0 |
Sz 0027 4.33332 (_.ol1%) ' 3823 (- 0 hi2) (b)/qm- 75»24 M Condlfyore
= .90267 >o fma,/z
Ja&@mww X .S 418 20 => 0/2>-

Wx; = Néna&mcfwb t=)23¢

» Max,m,Zc Z = 60X, + 40X, fz.wg +30 Xy

£500, X, €500, X3 < €00, Xy £ 750

X::X,_y )(3,)(‘{ z0

£ %doo

g" S, 1078 # 083 2o =p oy Z -7

53:3 ~2d, 20 = o =/§
Thao, - £d, 215, ov

9-/ ‘P"‘“/de;«fwu< 9+1.5
J’a-&ul;mmmﬂmaq.d A.M“‘-‘{df*

Seleilon: z= 2sg, 378, X, =500 X, =504, x3=378" | 2a [ Cate daumee nbrmatna

Xy=o

continued...

%«M?é’ net & 10.50 .
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Set 3.6d

(b) 20m TolRA, qalmwdg Corndidiors *
S /%0 +d, 2o

J’ 3"-!'06--5‘41 Zo
0/,:." g ~ro0 —20
A= 80-1%0 = -6o

S,: 140+ (=€) = o

3,

7o
30+ (~20) = .5(~G0)= 40 Do
Soladgn' nerratis e arna.

@ Fa e ou‘ 70Yco mered, I g
7‘0:240« @lao are Schyim 3.6.3)

‘°°<4€-4 -2%5d,<8, -8'/3<o(3<oe

(u) Original Z = 3X,+2X, +5 X3
Now Z = I, + Xz + X3

¢ de u- vy n

{ °c ' 4q 9/4 = ©
2 4 g 4 =V
3 .4 -8/3 -4/-8 =3/2
Nt +gzo+lfy+3/2=22 >

Tha 1007 aude, Ao 2orconcbusint <n
Mo coan o The dololion i Foblem 1 (/i)
Staor Ibot HHoa Selotoor w&ld.ng.

(1//) Onx J/mlz 23X, 22Xz +SX3
. NeA T = 3, 135, +7X3
A

(@ X, = Mbr. Aywéw M,;,,j,/d,,%' 7 T 100), rode i moncomllusine, Jet
)(.;: ”Af a(b&(x Ca 4! 6 /dag - W‘L,GM I(l“)%e‘kﬂ%aj’a% W‘r\)
Maxm !
12e Z= f00x + 140k,
Sy 7R bvo caare demﬂwyﬁaﬁ'%}"‘-
_s'x,+x,, </%0 100 pube & 3 u&éﬁ&ew
X, < 2g0 n deceelon m% ad Aa
X X2 _< /S0 | e ,w&,j&/& j}.mm\r»\w
12X, 2o o) /mudéﬁ crndilhons guven o, St
JM: Z= 83,200 - -;63 ; -
X = Koo A.xdw&&y . o
Xo= S0 debuxe 1 (B ~30<d, <00, ~140% o, < o

New 2 =89x, + SOX,
O»y/'m'.lz = /00X, + ) I Xo

¢ de oy ug v, -
{ —20 =30 O -19-30=23
2 ~60 -14o go ~6/-w0=3/7

Vitry=33+3/7= 23 >/

The. /00/ anke <, mamw
Yet. Pk lom 7C6)Shaur Hat o
Setuwlior Aeyrdhrnd f’/

N R S Yer
2 & \/g
3 4 o4 <0 = ©
=S LM
Ny + = ZTF >/ continued. .. =
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Set 3.6 |

See file solver2.6e-1.X1s in ch3Files '
DMfAémc%m fears 2,3 amel 4 arn
) 0, 2.89. Thua, (it spear 4, one

(ﬁmw) adem/a/ﬂz(ayymww Z
FR.89 HRevwoend .St i; sontfutile So

See file tora3.66-2 . #x+ '
Dual price. - Range

Constrarnt
{ 53¢ (0/. °0)
A -3.73  (-o0,6009)
3 =113 (o0, 6800)
fs" ~1-07  (_os,236%2)
- 100 (~o0,53628.73)

@) Cconotroumt |, X+ Xy + Xy +3 £ 10,000
ool spivce. + 35 3¢ funveaid
&(Z{MM s36y

(&) Comobraunt 2 : 000 Spendom /.ﬁcww\-t.

D’““‘e W‘«'« = —*373/72&%#
2 (-0, g0002) 1

wo&m; 4"/000 wfmo/{

| e ﬁrﬂlu»ﬁm«.bﬂ #3730,
Jee File. frva3.6€-3. 7t in ch3Files

g |

- SX, +. éxz—xg +Yx - 06677 = logo ||

Mag m,&:,m 06» ea,_z 9um{a "””""*é

f?a/.?.z#&(/*é) = & = ,,,_2

/ 2243 = / 1948 (/+c) = {,= aas

g %ELJ:
11945 = /02 (1#5) = /7/
w4 .
/01 =/o(/+l4) =14 Ly = 02
(B He duak caagentid ool
;ﬁ*ﬂﬂwwm 5y (U8-X/0) 2
49 &‘sz} méum/z:fms
M W-ﬁ’ %o,
| Cxtrm Aotlar 4 3 12 L

B 11945 at He erid o He Krigen . Ko,
%Mda%?*mz;—mwu/ <t #auot fa
Arpaid ao E/.025 en” K rapt granden .
| &M/UW ws mm&wf &
‘mgﬁ«m; o Wf A, ﬁ"?
ﬁafammg ﬁ-mrw*y ' ey 3

149

-

/- 19485~ /- 028X/ 02

Quartey  Dwdprice  Farge
t l2ygR 6647, 2-3806
4 {2 43 +6580,2.6122
3 AL 25414,1 248
5 /o009 .44 23{‘,

(@) A addilizrad & avalobl ot S ik
9 7m6;/ i wob $1.24 888 of 7%
4 quartors . Six ) am addifinad
i ot o et peiials 2, 3, anel 4 43
|emdh #xzm $//Mrw £02,
i PR G A
¢="#1 02) Hhovrs Kot alf ore Cando
%M%«Mﬁ vt b ot 2, An

a‘ﬁiwufer

Hax: RHS

S SNt e mmmaamammsammSme-csehamcmacsmesremmsmma.

infinity

infinity
infinity
infinity
infinity
infinity
infinity

M
Z:wm,s Jfﬁ‘f”ﬁj’og"‘ Foinkan
Jnﬂu(Mgm
Bowid 12 21756 = 20073+ L) =p = - OTES
Prida: 20173 = 1-8647(1+6) = PR {1
Bl 3+ /- 8647=17296 (1+ig)= is="OT8!
Forad : 1729 7./-604¢(1*t"‘)=9[4=.d75)0

€‘)Lc,...

&Je. can M&Mfa—uqﬁm

continued..
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S | - | Set 3.6e
Sew file toms3.6e-5 txtinm chafiles | & | e e frrs-6e-0-5in Ch3files ‘ 9

Conatrourd™ 2X, 43Xy +$ Ky < 4000

The atua[ ffu.ce.a*év W?‘ﬂuwf' / ' Cvrrmfww/; 7 tr Lok A & M
, lﬂ'f' < /00,000 o 7¢ufu w Flo. 27/[h fvva/nw-.cém
“2 £5.10 . Thua, eacl amvelid § 08-5‘/2//& a.cgmszﬁm addlx‘mw(
il $S.10 ot e endl Jf Ha mveotment™ | Aqus madonsl A 4 7ot
%%f" g"‘j‘ (e, "0) 1(6) Conotrmmnt 4 -r2x,_+7x3 < 6 000
ucl i o8 artrns |6 | gt 7 i eBe . 26
Kot Xa+ Koy Xy £S00 WT’MS,MW
s #ﬂBS’.fM‘jto'rwW /Mfy'-(a*?? < Aecomareiled .
ﬂc‘;mélmW/&fo‘h &'gw/—W (ay Sec File Hora3.ce-10-txt B ‘o
F st - Constraint___ Dual price
See File Jorasge xt im chililes 7 ! o
P, Ky + Kooz + Ky Z 1500, g i
Ausl ponice o 3 "y, nange (300, aQ) S S,
One extra osunch a,uv"mvfmﬂg g o

WW%/’W“’"‘?Z}”M Hovs Comotroinds swqm my“ﬁ”‘e

by oolin Cg,,?“, Ho
e T 500 | G oty ﬂM;%‘

Cost Hovs o WW‘:%$4.20 dﬁﬁﬂw"‘f‘ e
Cahﬁ.? cﬁw@“‘“’? ey, - PllHo Cj@ﬁ%mﬁm%ﬁp&%dmﬁ

X ‘S'S'O M L = I We‘ (b)ﬁﬂmm’/@wg QK;anM

—o0, /250D, WW W@- are $90, £110, ard £30 fuaa{pmmpf
%MﬁWéy /azu; {a”agM/ sz{3

Lesa winendd, M%W‘M{ "Ze“ Ha AKX m dﬁ‘-

e e ol §o o 03, (R cosdle magmin e
1 Seorikor sz’refﬂ/tmﬂ W&W 747 A/
s MWMW*W |
See £le faraZ60-8. %t in chitiles I—E

Machine _Coppal] Duclprice. _Eange
/ 500 2 (253.33,570)
z 380 12 (333.33, 750)

LoroHan £2 [hr
-va Han £12/%

mo.(u.u /
% ma&@wb.z
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